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(Read carefully the instructions given in the Question Booklet)

course | M.P.Ed.| sueect:| Physical Education

MAXIMUM MARKS : 50 MAXIMUM TIME : ONE HOUR

(Including initial 10 minutes for filling O.M.R. Answer sheet)

INSTRUCTIONS TO THE CANDIDATES

1. The sealed questions booklet containing 50 questions enclosed with O.M.R. Answer Sheet is given to you.

2. Verify whether the given question booklet is of the same subject which you have opted for examination.

3. Open the question paper seal carefully and take out the enclosed O.M.R. Answer Sheet outside the question
booklet and fill up the general information in the O.M.R. Answer sheet. If you fail to fill up the details in the form
of alphabet and signs as instructed, you will be personally responsible for consequences arising during
scoring of your Answer Sheet.

4. During the examination:

a) Read each question carefully.

b) Determine the Most appropriate/correct answer from the four available choices given under each -
question.

c) Completely darken the relevant circle against the Question in the O.M.R. Answer Sheet. For
example, in the question paper if “C” is correct answer for Question No.8, then darken against Sl. No.8 of
O.M.R. Answer Sheet using Blue/Black Ball Point Pen as follows:

Question No. 8. @) @ (© (Only example) (Use Ball Pen only)

5. Rough work should be done only on the blank space provided in the Question Booklet. Rough work should
not be done on the O.M.R. Answer Sheet.

6. If more than one circle is darkened for a given guestion, such answer is treated as wrong and no mark will
be given. See the example in the O.M.R. Sheet.

7. The candidate and the Room Supervisor should sign in the O.M.R. Sheet at the specified place.

8. Candidate should return the original O.M.R. Answer Sheet and the university copy to the Room Supervisor
after the examination.

9. Candidate can carry the question booklet and the candidate copy of the O.M.R. Sheet.

10. The calculator, pager and mobile phone are not allowed inside the examination hall.

11. If a candidate is found committing malpractice, such a candidate shall not be considered for admission
to the course and action against such candidate will be taken as per rules.

INSTRUCTIONS TOFILL UP THE O.M.R. SHEET

1. There is only one most appropriate/correct answer for each question.

2. For each question, only one circle must be darkened with BLUE or BLACK ball point pen only. Do not try to

alter it.

Circle should be darkened completely so that the alphabet inside it is not visible.

4. Do not make any stray marks on O.M.R. Sheet.
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1)

2)

3)

4)

S)

When was the Chennai YMCA college of Physical Education formed?

(A) 1914 (B) 1924

(C) 1896 (D) 1920

a%éowé YMCA déaos &3c0 Fodeed O3TeN 3353033000309
(A) 1914 (B) 1924

(C) 1896 (D) 1920
Olympic rings indicate

(A) Five continents (B) Fiverivers
(C) Five countries (D) Five mountains
2O0QT DONNKD TR

(A) =t Doz@nsd (B) = sonsd
(C) a2 Besnsd (D) 2z I=F3nsd

The city where the Gladiator contests was conducted is

(A) Athens (B) Rome
(C) Sparta (D) Olympia
MRRdes’ IPFTish SBoNET Tedso

(A) o5 (B) dwes®
(C) mogor (D) o003

Professional preparation of physical education teachers is governed by-

(A) U.GC (B) AILC.TE
(C)>N.C.T.E (D) N.AAC
dééoé dzeo 3530 33T AT B0, VOPOSRTYTH
(A)-U.GC (B) AILC.TE
(C) N.C.T.EE (D) N.AAC
‘Agha Khan Cup’ is associated with the game of-
(A) Hockey (B) Baseball
(C) Basketball (D) Football
‘Geos000" B R ROWORAT 36T
(A) =03 (B) Zexreer
(C) mAwrwees (D) hefeme®
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6) Father of idealism
(A) Pluto
(C) Shelton
BB TRTE LTND
(A) ZpEdwe
(C) 3ores®

(B) Rosso
(D) Aristotle

(B) dweine
(D) wompwer

7) Traditional schools of philosophy includes

(A) Naturalism

(C) Pragmatism

Find the correct combination
(A) ABC

(C) 'CDA

(B) Progressivism

(D) Realism

B) B,C,D
(D) D,AB

TOBERONT SRITT TSN WENROBIFHTD

(A) ZB=TTT

(C) =e3neN3z0e00
2OO3IRT BR3 FoREBBOND
(A) AB,C

(C) CDA

8) Density of bones is greater in
(A) Men
(C) Both(A) & (B)
BRFOD TOTIOID TLTOHI
(A) @Y
(C) (A) & (B)ao@n

M-2349
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(B) 030703
(D) Sjmzomen

(B) B,C,D
(D) D,A,B

(B) Women
(D) None of the above

(B) @0&$cd
(D) 0edx come @Y
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9) Modern concept of physical education is
(A) Education of the physical
(B) Education of the disabled
(C) Education for the society
(D) Education through the physical
ﬁé&fv’ 5300 STIT TOTON 2OTT
(A) 30¢cm 3o
(B) @bwsFed 33t
(C) A=mus o3
(D) 20¢8n Soewd 23w

10) P.H.Ling introduced
(A) Educational gymnastic
(B) Modern Olympic Games
(C) Turnverein movement
(D) Pragmastism
.35 Q01" 5'3523033?\15%
(A) édgséﬁ BIPDAT
(B) =odds w0odd 8ed
(C) 33P0 BhIP
(D) =e3nenzszowes

11) Split half method is used to test

(A) Objectivity (B) Validity
(C) Reliability (D) Norms
R BT DTOIBIR, TR fawaiad BOSeDZED
(A) IR (B) mxbomxd
(©) DTRTE S (D) =5%wd
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12) To be an effective teacher, the normal workload of a Physical Education teacher
per day consists of not more than

(A) Five class periods (B) Six periods
(C) Four periods (D) Any number of classes.

2.2) TOFOTTVO SBFTONMELY, 2.2), Wdd HTFIN TOTPT, FOONE ADION)
&;ozja @56 %‘465605 o%aia wmfaoad wadci:

(A) 2T 3TNE ©TH (B) &3 =00
(C) o) w=Hnsd (D) &8 agmm, ©nBnw

13) From the following names the one considered as backbone of skill learning is

(A) Demonstration (B) Imitation

(C) Practice (D) Observation

83 FINIJYNYY PBY, IR IZ w0 DO TOMESROLITOR) T
(A) I@3es (B) ©zhs0®

(C) vz (D) vzdeess

14) An effective lesson plan must always be prepared
(A) Shortly before the class
(B) On the spur of the movement
(C) Much before it is to be delivered
(D) Any time convenient to teacher
c3RwRRLR TOFETO TBOREBIODNT), AFTRAFT
(A) 30mé Fo =00
(B) © 3o 330
(C) R0BIR B0 BTN
(D) 2330r% wabEROTRT AROHTY

15) When the reliability and validity of a test have already been established, it is
called-
(A) Objective test (B) Teacher-made test
(C) Standardized test (D) Subjective test
2,000 WOCROD asg;sa;:% I, FIOWAIOID QFFORVLTRN BT, &en
FEONW

(A) SR &5 (B) 583003 i3 e
-0 Q% ed wh ed
(C) Rofsus B (D) g%
M-2349 (5] (B10,)
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16) If the number of teams are 10 in a knock out tournament, then the number of

bye’s are
A) 2 (B) 4
(C)-76 . By

o5 B THoon LRIFODNY HnmLHEME B0BNY "o&s, 10 and
BRTLTT & ne R0S3,

(A) 2 (B) 4
€) 6 (D) 7

17) In which type of tournament the ‘Ladder’ type fixture is used?

(A) Challenge (B) Begnal wild

(C) Round robin - (D) League

D6 WRWOOH BFF, B\ dedod TOTRWYONY WFHAMYT?
(A) ooz | (B) dme” Je°

(C) oPow® Tods® (D) Oerv

18) In which type of tournament ‘Tabular’ type of fixture is used?

(A) Consolation (B) Round robin

(C) Begnal wild (D) Challenge

ERPNOT BRTOOD IFFR, 03T ITTT JOTRBPONY LYFTRMIYTH?
(A) BoRRSew (B) oPow® ood® ;
(C) dmer Jer (D) eocSo®

19) There is no need to give bye’s in knock out type tournament if the teams are in

this number
(A) 10 (B) 16
) 12 D) 20
505 B 3939w, BoB0hY Sornegs o dews unYss |y
(A) 10 (B) 16
(C) 12 (D) 20
M-2349 [6]



- 20) When the number of teams in a knock out tournament is 16 or more than 16,

the cyclic method used to distribute the bye’s is
(A) 1-2-3-4 (B) 2-4-3-1
(C) 4-3-2-1 (D) 4-2-3-1

05 BEF LRIFODY FoaNE Fos, 16 oo 16308 BT JewLesen L
nosy, TOWS RFT AR

(A) 1-2-3-4 (B) 2-4-3-1
(C) 4-3-2-1 - (D) 4-2-3-1 -
21) ‘Jump off’ Rule in High Jump is used to decide the
(A) Fourth place (B) Second place
(C) Firstplace (D) Third place
28T BNITY ‘WO S5 QOPTBI, WIRPD AT, APE O
(A) Sooe B3 (B) «0@E3e s
(C) Snzo 3 (D) Rwecse T
22) Word “Tee off” is associated with which game?
(A) Polo ~ (B) Snooker
(C) Billiards (D) Golf
‘W0 BT TTW ROWORAPRT dwE FLBERY?
(A) Bedne (B) mo30
(C) 2dchaF (D) moe?,
23) What is the CDR of 82mts staight 400mts standard track?
(A) 37.24m (B) 37.54m
(C) 37.94m (D) 37.64m
82 0 B3O 400 N MOEATT 26303 2.8.80°. AFD?
(A) 37.2480 (B) 37.5450
(C) 37940 (D) 37.640
24) The distance of marathon race is
(A) 26 miles 358 yard (B) 26 miles 385 yards
(C) 21 miles 195 yards (D) 21 miles 385 yards
médma" ﬁwtﬁFodD WRT
(A) 26 R, 358 CRTF (B) 26 S 385 o3REE
(C) 21 By, 195 SREF (D) 21 e 385 IREF
M-2349 7] E10)
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25)

26)

The length of cross bar for Pole vault event is

(A) 4.00m (B) 4.25m
(C) 4.50m (D) 4.20m
e BN3 m;da-oiag WETEIOD Spiag

(A) 4.00e0 (B) 4.25&0
(C) 4.50e0 (D) 4.20&»
Kinematics analyzes the effects of

(A) Movement of a body

(B) External Fore on movement

(C) A body’s movement in space

(D) Time and space of movement
6@%&&35: DJEAMYTD BT TOFOTB/R,
(A) Bemd 803

(B) #Bosodh Hed T, 23T,

(C) ©o30339 Bemwm Bod

(D) #Bodcdh ZHod oy on

27) Best example for ‘Hinge’ joint is
(A) Ankle (B) Neck
(C) Shoulder (D) Knee
‘©ozz*’ Forhan YOI YVTOBTES
(A) Swesezoen (B) 3=
(C) e (D) =vo&
28) Which of the following is carried by the blood?
(A) Enzymes (B) Oxygen
(C) Hormones ‘ (D) All the above
85 IINIPNYY OIRPYTTY, TTRY ToNem SREBFHTD?
(A) DT, (B) sxphms
(©) ceietoldg (D) S¢S 2P
M-2349 [8]



29) The sternum bone is located in

30)

(A) Foot : (B) Palm
(C) Chest (D) Skull
BT ed DRI

(A) 33 (B) =359

(C) 2BoDhg (D) 3Bennsoridodd)

Newton’s first law of motion is known as

(A) Law ofacceleration

(B) Law ofinertia

(C) Law of action reaction

(D) Law of movement

SRABTS BOIH IRTO A0DTFP) &R FI0RVBRH
(A) Sert IF3 DD

(B) =®g dodhad

(C) 3o Be3od oD

(D) 28030 dod=w

31) Which of the following is beyond the scope of discussion on health?

(A) Hygiene (B) Diseases
(C) Deformity (D) Death
8 TENIYNYY PP wderm 0edT 880D FH0D BRTNG?
(A) 3B (B) moo0ednsd
(C) 3e58 (D) =)
32) Health is primarily a responsibility of the
(A) Community (B) Individual
(C) state (D) Parents
SR TIPWTTON V[T %0 OOTTOATFYT
(A) RS0TCD (B) =god
(C) ooz, (D) Snemizad
M-2349 9] (5 f)



33)

34)

35)

Which of the following food stuffs contains almost all ingredients of a balanced
diet?

(A) Meat (B) Chicken

(C) Mik (D) Fish

8 FYNS ©T0 [RNYY CIPYD ARDIRCOT BTOOE IDAWRRW R
DFoRT, LIRPOBDIS?

(A) =woR (B) Beee

(C) moen . (D) e

Which is the water soluble vitamin in the following?

(A) VitaminA (B) VitaminB
(C) VitaminE (D) VitaminK
83 FIPNTPNYY 0370z QLT QeDITY FTMOJYT?

(A) Q8N @ (B) Qa3 @
(C) w3 2 (D) Q&30 3

W.H.O.’s concept of health focuses on

(A) Health as a sense of total well being

(B) Freedom from disease

(C) Physical health

(D) Mental health

W.H.O0.’3 ©8pend 303080 3w %eo&ﬁdémﬁdo@da QW3 Woees
(A) et328 7R 0N eﬁdraeﬁé

(B) dweennvon =g

(C) Bt wdner

(D) S®333 wdeer

36) Circuit Training was introduced by’
(A) Morgan & Adamson (B) Gosta Halmar
(C) Winter Bottom (D) John Dewey
RIECEF 83,001 W), TOWOWATST—
(A) BR0NMT DR, SBIFAS (B) mo=7, BRSO
(C) QowT® wous® (D) 5 Ba®
M-2349 , [10]
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37) Blue print of the team competition plan is called-

38)

39)

(A) Tactics (B) Skill

(C) Technique (D) Strategy

30T IFFTE CIRERIOD JeOTE DRI

(A) Sog8modd (B) 3,

(C) 303, (D) Zpz0ws

The cause for fatigue is

(A) Sweating high ‘ (B) High Heart beat

(C) Increased body temperature (D) Lactic acid formation
&S00 RN FoOED

(A) B BIHH (B) @0 B3 BB
(C) Bexm DaMoMOI (D) w087 s 3T

Anabolic steroids affect directly-

(A) Heart (B) Muscles

(C) Lungs (D) Brain
000 0003  SeTmoN TOTR REDPI 3BT e
(A) BB (B) =030

(C) =oE3Re3 (D) Szosd

40) Training method to improve maximum strength is
(A) Dynamic Concentric Method (B) Fartlek
(C) Extensive Interval Method (D) Plyometric Training
VIHT WOBIJ), éagﬁaw 30BeS DT
(A) RReesd 3083 TS (B) otrde
(C) 8¢z FOIT Q5o (D) &. &c3nreduds 303
41) The area of performance for floor exercises in gymnastics shall be
(A) 10m x 10m (B) 12m x 12m
(C) 15m x 15m (D) 16m x 16m
BIRATSY TR MTFTTIN IRBE BeFdE NG w9
(A) 108 % 105 \ (B) 12&0 x 1280
(C) 1520 x 1580 (D) 1620 x 1680
M-2349 [11] G0



42) The number of feathers in the Badminton Shuttle cock has to be

(A) 16 (B) 14
(C) <12 (D) Unspecified
DREOT 3eEONY TWT TFR VLT WIRY 0L,
(A) 16 (B) 14
(C) 12 (D) 35Fore

43) The fielder who stand behind the slip for deeper balls is known as the
(A)- Emeleg (B) Cover
(C) Gully : (D) Point
3FeEFQ BY3 BORNYS, LRODLD YR &OT VLR $eYTTR, FBOIOFTD
(A) B S (B) 3=c*
(C)-ng (D) =owoer

44) Who among the following acts as a time keeper in a football match?
(A) Referee
(B) Assistantreferee
(C) Linesman
(D) Recorder
8 FINIDONYY SRT RS BOBHRY AROD  ToFTN  FoODE
QB &ROTAT
(A) 30
(B) momo0ds 3x0
(©) TR
(D) moad8mes

45) The games of Volleyball was invented by
(A) William Morgan
(B) C.A.Bucher
(C) J.E.Williams
(D) James Nai Smith
o0 FLTEODR, BB HLITHID
(A) DODITF WBreenea®
(B) 2.2.2030°
(C) Ba.0d0hs=r
(D) &y, 3 2%

M-2349 [12]



46) In successful management system, assignment of Authority must necessarily
go with the assignment of

(A) Power (B) Responsibility

(C) Status (D) Duty

CNIR, AWFBEH %ﬁﬁ@oﬁmg’% VOTITIR, JeTTNRTD BRJTHN BRCA
2eTNDR) TR AeBT

(A) ©p%3 (B) mwoed

(©) e (D) sersy

47) The school intramural programme virtually serves as an excellent ground for
(A) Skill development
(B) Basic instructional work
(C) Testing skill proficiency
(D) Student reaction
DOTROINE T TOWRRY FOODF Y 2WOTD NI FeDFOITNTHTD
(A) 30, ¥RFQR
(B) awo xneuds 3ORE
(C) 3y, =oedn
(D) dmpene B83ohR

48) Who among the following should be the chairman of the intramural committee
at the school?
(A) Head ofthe institution
(B) The Vice-Principle of the school
(C) Director of intramurals
(D) President of student Union :
85 YNTRTY 03Tk TSNP T0OINES TOWRIY BNEN Slaksiopry
23309
(A) o ma:)é:% D
(B) Zodeod v wozseodhdd
(C) zowee3ns3 TOTRRYOR ATIer BT
D) JmHF BoFT VHIDL '

M-2349 [13] 1.0



49) In order to increase more student participation, intramural sports competitions
should preferably be organized in this method
(A) Knock-out
(B) Round Robin
(C) Challenge
(D) Combination-form

amét??ﬁ@ ONw&AE éaﬂ%ﬁm JOCRO3NF 3 woméde?ﬁ@m& B APOITY
ajédﬁ@ RIOBLICTOMRTD

(A) o7 B
(B) dRow® ooRdx®
(C) epdo

(D) mooRdewx

50) The basic function of management is
(A) Planning and organization
(B) Directing and Programme development
(C) Personal management and financial management
(D) Allthe above
ARFBHOD RO FONEROTT
(A) clpemd I BaSA)
(B) 2er3s @0z odeess ©RTO)
(C) Honds ATFBB WP, BrTOAT IVF B
(D) %I 2P

M-2349 [14]



ROUGH WORK

M-2349 [15]



10.

11.

VRPIROR TowEIN ‘
8.20.850°. QUBC ToYoD HeSK 50 TFRID, BRODT R[RTL IRV T,
TATRW, VIR eBUONT,
BB TF, THATH), ey TOR o, IPRZLORIVT DT/WODE TOWORATIE
QOOTIW, FO8eIAD.
B3, VEFOH BRTTI, NRZEN0T STENO I TIWSFCWOT £.00.8T°. YT
ToPOD, BRTA IR, £.00.85T°. YWIT TYoDY [P, [P SODT, SOWD.
BRLTE BRBEICHOZ Ay FHRIONYI VWINTRY, BOWELY JFPOTOTT, I,
3T TYoD B[RO[PTI AONTY  LVOLRHBT TOFRINTR  3,003FN
Qecde IO TTINTOECO.
TOEBOD FIODTY:
a) B3CIROTD TFODI, NICN0T LLOD.
b) =B TJOD IR QeRWB Doy, Y YOPNYY ©I 0T FOCIRT/ ARTT

wgcwmc{ QAT DA
0) b.0.8T. TIODNIYT BOWONAT T 0D FFTOORW, FOTREVF N SDOWD.
NTRTTEHN, BI, BFODY TY, F0, 83 “C” FOXPT WIT=NTT, Ve /BT
D TR0 F® WA L.R0.BT. YV TPEoH TR K0S, 8T =0T B4
FBNT0Z BoWd:
33, %025 8@ @ @ O (WU InF) (2R T IT® [P WTCIRENR)
N0 BRJFATZCD WIBEAROIW, (8D 30F) T3, BIFODY wBNAT a0
WNTY [IPITR[e SRBED (L.00.80°. 3T FFoDY TPBLIVTWD).
2,000 DOFH TIA 0T8OS T, B ToTTBI, MISFCRNT T, YOSH YOITBIW,
BT_20W BORBIACRMHIE P BB LHOTBH, ABLRMBOY. 8.00.8T°.
TOPONIT NTOTTEH RRCA.
VPHE B 3088 eHRTID ADFIBTRAT :u;%ﬂdg £,.00.630°. ToFoD e
R TRBUeD.
DPHFOI TOeFOD I0IT FRTR FHedpRTEON RV L.00.8T. Y0IT ¥
DB DFATRAVCDT TEOHT), LoOTNALIER.
RO T, TWITII), WD) L.20.80°. wPHFCD BSODH, T 83 SADEROD
BRENWIVTD.
EREOMONH o Bewo® B, draaiep’ PRI NI, Boewy FRTICH  weN
DDIERFTMORDY.
OPProRe DAITY IABNBYD FoBOTS, LoIT WHBFOL, TR
TORETRDFH DY T ALY FFT ROTH WRRPFDH AT FH FRAYTDIHT.
8.00.65TF. ToPehah, Bows TREENR

BEXROTD BJIR 2.0T¢ 20T B0 RATIVT/FOCRT YWITIIT.
B8 TR 2.0 JIIW), [T, e VFT T, LR TN TIFA0T B[RE,
oWIBFT), YITI), B[RTFRILY ToDEFeea.
RBRRINLST ©TTF FEOWLBOZ [ FIN, FOTRLOF TN B0LRTID.
£,.920.80°. TOYORY XPPTe YTRJF PAJ/RTW, SREUER.

Note : English version of the instructions is printed on the front cover of this booklet




